
81.1 PS 

1) Jesse bought 4 shirts. The individual costs of the shirts were: 

 £9.90, £8.25, £12.60 and £8.85. What was the mean cost? 

 

 

 

 

 

 

 

 

 

 

 

 

2) The temperature in Glasgow at 1.00pm was 3°C. By 7.00pm it had fallen by 8°C. 

 In Dundee, the temperature was -2°C at 1.00pm and it had fallen by 5°C by 

7.00pm. Which place was the coldest at 7.00pm, and by how much? 

 

 

 

 

 

 

 

 

 

 

 

3) I think of a number, multiply it by 4 and add 5. The result is 41. What was my 

original number? (Let the original number be 𝑥) 


